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S A E P I C K L E S T I C K S
A P A R A D E W G C H I N A F
N E D D I N G T O N P A T C H
S A S S Y A C A N D Y C O R N
P O S T O F F I C E A S W K H
S Q U A S H G O U R D O N H I
C Y O Z O P U M P K I N S A Z
T S R W K C I I G O O S E O U
D A E S S P H A L L O W E E N
P F I R E C H I E F A E E A N

POSTOFFICE CANDYCORN
FIRECHIEF NEDDINGTONPATCH
SQUASHGOURDON PUMPKINS
HALLOWEEN PARADE SASSY
GOOSE PICKLESTICKS

A I K A O P A R A D E M L I A
N E D D I N G T O N P A T C H
L C G N H A L L O W E E N W A
G P O C U P O S T O F F I C E
A N O U L P O K C S A S S Y N
E I S D L C A N D Y C O R N L
E A E M P U M P K I N S S G C
I F F I R E C H I E F A A T T
P C S Q U A S H G O U R D O N
E P I C K L E S T I C K S G I

NEDDINGTONPATCH GOOSE
PUMPKINS HALLOWEEN SASSY
CANDYCORN SQUASHGOURDON
FIRECHIEF POSTOFFICE PARADE
PICKLESTICKS

Take a guess and estimate how many squares are
below. Then write the actual number.

Estimate: Actual:

How close was your guess?

3
4

567
8
9
10

1112 1
2

:

600+10+8

2 + 2 + 4

8 7 5

0 ____ 0

> < =

Which number has a 1 in
the ones place?

192 912 921
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SASSY
Write each word into the puzzle.

S A S Y

fifteen Holly has two tomato
plants. There are 5 ripe
tomatoes on one plant.
There are 6 ripe tomatoes
on the other plant. How
many ripe tomatoes are
there in all?

800+20+5

3
4

567
8
9
10

1112 1
2

:

word root per can mean through percolate, permeate

6 7
- 5 4
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Which way does each word go? Write the word.

1

P

A

R

A

D

E

1. PILE
PARADE
PLATE

1

2

G

O

N

E

1. PARADE
PUMPKINS
PEN

2. GONE
GOOSE
GOOSE

16, , 18, , ,

, 22

How much is this? How many?

9
8-

How many? How much is this?

3
3+

12
01+

How many?
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